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	Module Name: Answer Key – Subject Worksheets/Tests



	Worksheet 1
Length ( Width ( Height

Volume

Surface Area

Volume: Surface Area
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Having the students covert the ratios to decimals is optional, and it is not mentioned on the worksheet.  It is recommended you add this if you want to be able to compare the ratios to each other.  The teacher should probably provide calculators, if they include this exercise.
The 3 ( 4 ( 3 prism has the smallest surface area, and it is the closest to a cube.

You could build a cube with exactly 36 sugar cubes, but you would need to use fractional parts of sugar cubes.  Since the cube root of 36 is ≈ 3.3, the cube would be 3.3 × 3.3 × 3.3.

The largest cube you could build out of the 36 sugar cubes if you could not use fractional parts of sugar cubes, would be a 3 × 3 × 3 cube, or a cube with volume = 27 units3.
	Worksheet 2
They key to the pirate’s code on the treasure map is:
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         = 50 km
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          = 2000 km
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         = About 14 mph
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          = 5.3 m
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         = 11.67 pounds/min
	Worksheet 3
Answers will vary.
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